B e A

YEAR : 2004 6.

1.  Qut of 450 students of a school
325 play football,175 play cricket
and 50 neither play football nor
cricket, How many students play
both football and cricket ?
foeht famem § 450 fremeff ¥, fand 325
Al G €, 175 fede Ben ¥ wi 50
T & wetE der ¥ 7 free e ¥ B
el wizafer e feme A aiom &) 7.
(a) S0 (b) 100 (¢} 75 (d) 225

2. A wall- clock takes 9 seconds in
tringing at 9 O'clock. The time, it wil
take in tringing at 11 O%lock, is
[NOTE]: The wall-clock trings 9
times at 9 O’ clock and 11 times
at 11 O’lock.] 8.
MR o A-AFA T odFT |
TE A b 1™ @ I e
T
[NOTE): R 5 9 =9 9 I} 7w 11
T 11 W [ T R
(a) 10 seconds (b} 11 seconds
(0 11.25 secords (d} 10.8 seconds

YEAR : 2007 '

3. The total number of integers
between 200 and 400. Each of
which either begins with 3 or
ends with 3 or both is 9.
200 79 400 % d= A TuiE TEw A@

W e 4 79% don 9 A3 3 Wy o

% 7 fF 3 W T g # W i 2R

(@ 10 (b} 100 (c) 110 (d) 120
YEAR : 2012

4. For a certain month, the dates of
three of the Sundays are even
numbers. Then the 15th of that
month falls on a
frdt wre #, @ dEml W e
¥ 7@ 30 W' F 15w R

{a) Thursday (b} Friday
(¢} Saturday d da:

5. A wall clock gains 2 s in
12 hours, while a tabl loses
2 minutes every 36 h th are
set right at 12 n sesday.
The correct ti both show
the same time ould be
o o w1 2 fire W = W
Lo i, BHI A2 = 11,
o 33H % 7 A el v
129 wh ® W w I s

I A wR, = I few wum w
et #)

{a) 12.30 at night, after 130 days
(b} 12 noon, after 135 days

fc) 1.30 at night, after 130 days
{(d) 12 midnight, after 135 days

Q.

From 9.00 AM to 2.00 PM, the
temperature rose at a constant rate
from 21° C to 36°C. What was the
temperature at noon ?

9:00 AM. ¥ 2:00 P.M. TF ¥AF <
o AA 21°C & 36°C 9% WAl &1 Tuw
12:00 =t AINA T 17

{a) 27° C (b) 30° C

fc) 32°C (d) 28.5°C

The length of a minute hand of a
clock is 7cm. The area swept by
the minute hand in 30 minutes is:
fore 5 it @l 7 om 1 e g gR
30 fre A 7 g9 A w7

(@) 210 sqg. em (b} 154 sq. em
{c) 77 sq. cm {d} 147 sq. cm
The minute hand of a big wall
clock is 35 c¢m long. Taking

22
ﬂ=7, length of the arc

extremity moves in 18 seconds is

T R v A e g

zz,i <

35 cm %1 e, ﬂ=—“
T 18 4% ¥ 99 SN

fa 11 cm
{c) 6.6 cm

If a clock i
numbepef % at each hour, how
man s it strike a day ?

o w 2 g AR -9
#) ol A w-23 HOi?
IQE'O (b) 156 () 68 (d} 78

machine consumes g kilo-

watts of power every t hours. How
tnuch power in kilo-watts, will
three such machines consume in
10 hours?

ﬂﬁaﬁs‘mﬂwm‘%ﬁgﬁm}-mmﬁa

T w0 TR # 3 T, 1092
# frait ofm = =6i?

k b6: 6kdt
{alt ”k {c)t (lch

| walkk a certain distance and ride

back taking a total time of 37

minutes. | could walk both ways

in 55 mintues. How long would it

take me to ride both ways?

A 37 frRe A, uw fifva <0 9xm T ww

& 7 W A @ € § 55 fre §

A AR I I Yg@ A w1 sk A
I AT A FH A T a ol
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(@) 30 minutes (b) 19 minutes

c) 37 minutes {d) 20 minutes
YEAR : 2014

If the number of items of a set A

be n(A) = 40, n(B) = 26 and

n(AnB) =16, theg n(AuB) is

equal to

fret vy @ W
n(A} = 40, (% 6 3 n{AnB)

B) ®1 WA W F{?

40 {c) 50 (d) 60
niversal Set
,2,3,4,5,6,7,8) and
1,2,3,4), then A is equal to
H=AU=(1, 2, 3, 4, 5,
» 7,8 T A=(1,23,4), ® AT
w0
(a) (5,6,7,8)

12,

= 16,

i

13.

b} (5,6,1,2)

() {5.6,2,3) (d) 5.6,3,4)

A piece of cloth measured with a
metre stick, one cm short, is 100
metres long. Reckoning the metre
sticks as being right, the actual
length of the cloth (in cm) is

TF Wit Yo fawat e suEt AT
o ¥ 1 o, %A ¥, 100 et Andt
W= R gE FW F 9], T
T w5t d W W

{a} 3,900 by 9,900

{c} 8,000 (d) 6,100

A man having height 169 cm is
standing near a pole. He casts a
shadow 130 cm long. What is the
length of the pole, if it gives a
shadow 420 cm long?

™ AfE 9 169 cm ¥, W
T F TER WY RS ¥ W A o
130 cm W ¥ = o [
R IAH B 420 cm TR B)

(a) 550 c¢m (b) 589 cm

{c} 323 cm {d} 546 cm

14.

15.
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(b} The number of student who play 6.

Cricket or football or both (¥¥ B
F) wEA S fehe W Hela A I SR )
= 450 - 50 = 400

nFuC) = nfF} + nlC) - n(Fn )
400 = 325 + 175 - niFA Q)

n(Fn C) = 100

{d) 9sec — 9 times tringing

9
1sec = 5.,1-(i0)

Since first tringing in 0 second

{b} Total increase (F& IfE) = 36°-21°
= 15°

Total time(HHA TAI) = 5 hrs

So it increase (3d: ¥ TW) = 3°C/hr

At 9:00 AM temperature is 21

So, at 12 ;: 00 PM temperatiure is

(37: 12:00 PM Wi AT TW)

21+ (3x3) = 30°C

{c) In 60 min. minute hand covers

(60 e ¥ fire 9 g W FE B) = 360°

In 30 min minute hand covers {30

firre ¥ fiFe %t g 93 F@@ ¢ = 180°

radius (=) {Length of min. hand

firie @ g # T = 7 om

11. (b} Time taken in walking both ways

(A e B T B W T W)

= 55 minutes
Time taken in walking one ways

(TF T F 7@ W@ § w1 a)

55
- —- 27.5 rmr

Time t
back (

ng and riding

mﬁmmﬁﬂ

) = 3¥ min

aker®in riding on one way
Q F AEF A 7 FW | 0 A99)

2 ,
llsec— —=x {11+ 1) Area (S9FE) = nri— 37-27.5 = 9.5 minutes
10 360° iM¢ taken in riding both ways
108 22 7 180° 77 ome 7 A T F wE | ¥ w5 am )
= == xTuTx = Cm
~ o 10.8 sec. 7 360° E 7= 9.5x2 = 19 min

{b} Radius (5=1) (Length of ufe

c) 203, 213, 223, 233, 243, 253, =
(2é3’ 273, 283, 293 hand (f‘FlE q‘ﬂ §§ ﬂ ?"I'EII?) 2. {C] R(AUB)- n{A]'I“n(B}—n(AﬁB)
— Total 10 In 1 hr (3600 sec.) min. hand oo = 40+26-16
300 to 399 I‘n 2;‘ irs;ta-cond minute covers = 50
= Total no of integers (Ui 1 HA _ != {i 13. (a) U = (1,2,3,4,5,6,7.8)
e = 100 _ onr A = {1,2,3,4)
Total no of integers (o H =7 . 3?{;0 4 o ?es hand = A =x: gl) and xgA
&) = 10+100 = 110 noRE segongsLM B -
A= U-A

c} It is possible when there are 5 2 r
{stlnda‘.YS l)mc' the month starting from 3600 x18 x18 = 1.1 ecm = (1,2,3,4,5,6,7,8) - (1,2,3,4)
2 of that month. In that case of 3 bl Zot £ time it strike = (5,6.7,8}
even dates will be sunday on 2, 9, ( ; n ze: ot u £12) 14. (b) 1 metre’s actual length is 99 cm
16, 23, 30. So 15 will be saturday 4 { “Wf <7 ) (& M F FafEs o 99 om ¥)
(‘fwﬁ mi}“ W@Rﬁ; mﬁmﬁimg Su n natural no = nt ) 100 metres actual length is 100 x 99
;‘__'““”’”'.ﬂ“ “?;I[ il i 2 (100 2 F1 TrEAfrE TWE) = 9900 cm

w . 15 ) 15. (d) If the shadow is 130 c¢m the

(b) A wall clock gains{in 12 ho
(far =gt g 12 w2 H md
w2%d) 52 min

A wall clock gains{in 36 hour

.

. é] In 4’ hours a machine consume

K
(+ 72 ¥ welilq =@ 5

actual height is 169 cm(3fE B
130 cm ® @ wrafa® @A 169 cm ®)

If the shadow is 1 cm the actual

v 169
‘*"’%"W%ﬁﬂmﬂﬁ height is — (afx @ tcm & @
In 1 hours a machine consume (7% 130
. K 169
w2 ¥ uyflw +1 @@) — el
= ATeafad A 130

b .'...l = 90
Total days = o4 =135 days

(12%60) minutes
S0, bhoth clock will show correct
time at 12: 00

Noon after 135 days 31@: 34 W=t 135
Al & 9% 12 T Juet B et T @R

In 10 hours a machine consume

k
(lomﬁﬂ'wﬂaaﬁm)axlo

In 10 hours 3 machines consume

k
(1092 ¥ 3 9 7l 1 =) §x10x3
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If the shadow is 420 c¢m the actual
height is (% 9@ 420 cm ? @
areafas @ 21)

169

x420

= 546 c¢m

—E=



